Thinking of Division as Multiplication Arithmetic

@ Complete the table. The first two have been done for you. Do not fill in the boxes shown.

Question | Division Question Associated Product

40+ 10 = 10 X [] =40

10+5 = S5x[]=10

21 -3 = 3 X

63+-9 = 0 X

88 =11 =

36 -6 =

6 X

45 +9 =

28 +4 =

153 =

24 + 6 =




Thinking of Division as Multiplication Arithmetic

@ Write down the associated product for each division listed.

Question | Division Question Associated Product

48 + 6 =

24 -3 =

6012 =

20+4 =

36 -9 =

126 =

36 -12 =

40+ 8 =

81 -9 =

49 +77 =




Thinking of Division as Multiplication Arithmetic

@ Write down the answers to the following:

Question Division

50+ 10 =

25+5 =

42 =77 =

24 =4 =

72 -9 =

56 -8 =

66 -11 =

54+6 =

63 -7 =

T2 -8 =




